Cll# KoHBepranus aMepuKaHCKON MEPbI JJIMHHBI s

3ano/IHHTE NPONYCKH, YTOOBI CAeIATH KOHBEPTALMIO BEPHOIi. OTBeThI
1) 8 ¢yros = JIOWMOB
1.
2) 1¢yr= JIOHMOB
2.
3) 3 dyros= TIOMMOB
3.
4) 10 dyros = JIONMOB
— 4.
S) 6 dyros = JIOMMOB
5.
6) 6 apnos = ¢dyToB
6.
7) 5 sapnoB = ¢byToB
7.
8) 9sapnos= dhyToB
8.
9) 7 sapnos = ¢dhyToB
9.
10) 1 apn= ¢byToB
10.
11) ¢yToB = 3 sp0B
11.
12) ¢dytoB = 10 sipmoB
12.
13) ¢yToB = 4 spaoB
13.
14) ¢yToB = 8 spa0B
14.
15) ¢yToB = 2 apnoB
15.
16) TOUMOB = 5 (pyToB
16.
17) M0iMOB = 2 (yTOB
17.
18) II0UMOB = 4 GyTOB
18.
19) r0iMoB = 9 (hyToB
19.
20) nroiiMoB = 7 (hyToB
20.

7 1-10 195190185180 |75[70[65][60 |55
11-2045]40[35[30(25]20)15]10] 5

E\/IaTeMaTI/IKa www.CommonCoreSheets.ru




=

KOHBepTaHI/IH aMepHKaHCKOﬁ MCPBI JJIMHHBI Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
3anmoJHUTE NPONYCKH, YTOOBI CAeJaTh KOHBEPTAIMIO BEPHOIi. OTBeTHI
1) 8 ¢pyroB= 96 mroiimMoB
L 96
2) 1¢gyr= 12 moiimos
— 2 12
3) 3 ¢dyroB= 36 moiiMoB
— 3. 36
4) 10 pyros= 120 mroiiMmoB
— 4 120
5) 6 ¢pyroB= 72 moiimoB
— 5. 72
6) 6sapnoB= 18 ¢yros
— 6. 18
7) 5sapmoB= 15 ¢yros
— 7. 15
8) 9apmos= 27 odyros
— . 27
9) 7apmos= 21 ¢yros
— 9. 21
10) 1apn= 3 d¢yros
— 10. 3
11) 9 ¢yros =3 spaos
11. 3
12) 30 ¢yros = 10 sipmos
— 12. 10
13) 12 ¢yros =4 apuos
13. 4
14) 24 ¢yros = 8§ apmos
— 14, 8
15) 6 ¢yros =2 apmos
15. 2
16) 60 mroiimoB =5 dyToB
16. 5
17) 24 moiimoB = 2 GyToB
17. 2
18) 48 moiimos = 4 ¢pyToB
18. 4
19) 108 mroiimoB = 9 pyros
— 19. 9
20) 84 mroiimoB = 7 dyToB
— 20, 7
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